e

0,60 m >1,00m
‘ >EN 1176
0,60 m >CPSC
‘ -
C—— i —
1
{Z} 1,25n
Varje vecka

5 1 Every week

\ Jede woche

N, Chaque semaine

I Varje sdsong
Description MA Item Number | Qty %ﬂ Every season
Chaque saison
780x500 mm 12104110-01 1
707x520 mm 12104111-01 3
300x300x60 mm 145001 3 I{ﬂl 5-12
M6S M8x16 mm 302154 6
8008839 ANEBY, SWEDEN
www.nhags.com
M6S M10x30 mm (302208) 3 5
700x700x27 mm 12104113 | 1 ronco
M6S M8x25 mm 302158 6 1 21 041
8008849 1(2

@9x18x2 mm (83020680 71975\ 12 ( )|®\®| | |

NN LK [2019-10-21 |6
Lock Nut M8 (324102) 6




z
A

Description MA

Item Number

Qty

1 |780x500 mm 12104110-01 | 1
2 |707x520 mm 1210411101 | 3

3 |M6S M8x16 mm 302154 6

4 |@11x22x2 mm (830206808037% 3

5 |M6S M10x30 mm GBozs0e, | 3 HAGS pistpso-
6 [300x300x60 mm 145001 3 www-hags.com
7 |[700x700x27 mm 12104113 | 1 Bronco

8 |M6S M8x25 mm 302158 s 11 121 041

9 |@Ix18x2 mm ?30206808147% 12 2 ( 2)

10 |Lock Nut M8 8008795 6 NN [S&>[LK [2019-10-21 [6

(324102)




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (1 : 5)
	Drawing View6
	Detail View D (1 : 5)
	Detail View E (1 : 5)


